
Stock No. 
33197, 33198

Installing  
Wall Bracket

• �Attach wall bracket (double) to back panel with (10) 
bolt M6 x 16mm, nut M6 and flat washer 12 x 6.5 x 
0.8mm, and tighten with wrench  
(not included).

• �Attach wall bracket (double) to wall cabinets and 
base cabinets / trolley with (8) bolt M8 x 16mm, flat 
washer 18 x 8 x 1mm and spring washer  
14 x 8.8 x 2.6mm, and tighten with wrench  
(not included).

• �Attach wall bracket (single) to back panel with (5) 
bolt M6 x 16mm, nut M6 and flat washer  
12 x 6.5 x 0.8mm,and tighten with wrench  
(not included).

• �Attach wall bracket (single) to wall cabinets and 
base cabinets / trolley with (4) bolt M8 x 16mm,  
flat washer 18 x 8 x 1mm and spring washer  
14 x 8.8 x 2.6mm, and tighten with wrench  
(not included).

drapertools.com
Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF   UK. 


